Solutions 5.5 (part Il) -Sprint 2008

53. Letu = 1 4 22°, so du = 62 dz. When » = 0, u = 1; when = 1, » = 3. Thus,

Jia2(14229)" do = [Pu(bau) = H[3f]] = (& 1) = F(20- )= B =

62. Letu = sinz, s0 du = coszdx. Whenz = 0, u = 0; whenz = 3, u = 1 Thus,

f;rfzcnsx sin(sin x) dx =I‘} sinudu = [— cosu]: =—(cosl—1)=1—cosl.

dz
——— Whenx =0, u=0;,whenx = %,u=%_ Thus,
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68. Let u = sin~ ' z, 50 du =

69. Letu=¢"+z,s0du=(e"+1)dz. Whenz =0, u=1;whenz=1, u = ¢ + 1. Thus,

1 = all e41
f z +]dz=f ldu=[ln|u|] =Inle+ 1| —In|l| =In(e +1).
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